N
O

N> 0 — = NTGFHIF
JiE—) =-To—- AR
N Woyw o2

(Fsedt |

AN

KT RFHMY

Fh.

BUSHINGS 6363

156363

PAT.P No.E-9700E

([ERON)" AMEQD

EE sU)2 B =X

W&
iTES B A7 B C (a®
904443 | 6363-12-005 | 16  20.5 GY
904444 | 6363-16-005 | 22 23 = MI18x2.5

B Hig

6363-12-005 9
6363-16-005 25

BASE ELEMENTS 7110F-M

JREETTAE7110F-Mazuza. sime)

PAT.P No.E-9700F

(ERON)" AMEQD)

S 545C EEED k. EEED 2 B4R

- B
A
A” O
P a-
C F
W&
ies ne EATEME A (X B C D E F = G  Eikg
904461 | 7110F-M1212 12 M12x1.75 = 11 17 58 18 223 375 . 0.05
904462 | 7110F-M1214 14 M12X1.75 135 = 22.2 85 158 = 286 = 40 0.06
904463 | 7110F-M1216 16 M12x1.75 153 = 25.4 85 158 = 286 = 45 0.08
904464 | 7110F-M1218 18 M12x1.75 17 286 111 191 317 = 45 0.10
904465 | 7110F-M1618 18 M16x2 17 286 11.1 191 317 50 0.14
904466 | 7110F-M1620 20 M16x2 195 318 119 : 19.1 317 = 60 0.19
904467 | 7110F-M1622 22 M16X2 215 36 142 © 254 © 381 @ 60 0.25
904468 | 7110F-M1624 24 M16X2 235 382 | 142 @ 254 & 381 @ 60 0.34
904469 | 7110F-M1628 28 M16%2 265 413 175 286 : 508 @ 70 0.46
SPACER ELEMENTS 7110AS PAT.P No.E-9700AS
B TTHE7110AS ‘EroN’ AMED
ElESs45C EExx B sELE 13 F
F
[(#) K(%43h)
y=aE
J 0O
HlG 9 ‘
c 1 -
W& )
i8S BE EM%® A B C D - E  F@EH G H | J K HEikg
910984 | 7110AS-12-1 | M12 40 25 65 56~ 82 125 MI12x1.75 125 195 405 10 19  0.23
910985 | 7110AS-16-1 | M16 50:30:82 69~100  16.5 MI16X2  :155:245 515 10 @ 24 @ 0.48

http://www.nabeya.co.jp




